ES

tﬂ_l\_l‘ll

THAETH6H BUT A4 FE % 4 A AFLITHIE HAz:
By R * ES 4 ¥ % R AN S VR
& AT 551 1A 75 2 1A 55 3 [A]
(EEN A VENRE) (R AT e A X B T 10, 600,000 | 9,900, 000| 9,600,000
ﬁ%g?%%g§%§§§¥%§% -2 (R o T R R T 10, 200, 000 9, 800, 000 9, 500, 000
V)N P et B S 10, 350, 000 | 10, 000, 000 9, 700, 000
ST Ho i o (Y 10, 400, 000 | 10, 000, 000 9, 600, 000 _—
JEATHIRR
B AFL R5. 3. 20
w18 W7 v~ WEEEN 7,600, 000 RE
gg%igﬁ %%ﬁé;%g%ﬁ%%@% - FAR TR A2 M aA e EHEFERT | 10, 000, 000
Bt [EBERY  # i SOh 8, 590, 000
[ AR F e S 8, 000, 000
KHI Y LE 2 MR FESAT FEIR
AALTE LB
8,070, 000 [ JEAT IR
AL R6. 3. 22
KEHE 10 5 7Y —rP—E R 3, 100, 000
B ACHLP ST 4 S 85 2t B WEER A EE B 3, 650, 000
s ~x 3,112, 000
oG @zm 3, 155, 000 |
JY—r ¥ U—H 2, 900, 000 RE
PN 3= 3 MR A > T A Fii3)
2, 950, 000 [ JEATHIR | W72 7 2 —> T 3,000, 000
A AL R5. 1. 31
KEH 11 & 7 VMR RN FF R AT 7,800, 000
KA B 22 e oy WU —2 B SE 7,300, 000
KET 7 =T —E R FriE AT 7, 430, 000
kR Wg&%ﬁ?%ﬁ e i 2 6T 7,270, 000
R A T A 7,200, 000
AL Hesg il ks ithro =71 7R 6, 900, 000 WeE
7,520, 000 [ JEAT IR
B AL R4. 11. 30
KEE 12 5 HAEW RS SOE 10, 200, 000
ggz b %}gﬁﬁw* LT NER L |IELER s s 9, 200, 000
RAEEEN RS 2T 9, 200, 000
oG W;ﬁz%ﬁ% 8, 400, 000 RE
CEE S AN 8, 875, 000
AL B
8,610, 000 [ JEAT IR
B AL R5. 2. 28
KEHE 13 & HEWM RS SO5 12, 660, 000
g;;g%%ﬁﬁmﬁyjﬂ%&@ O ﬁﬁ%ﬁﬁg 11, 800, 000
RIFEMEWR 1B = 26T 10, 800, 000 N
oG w;ﬁml¥ﬁ% 1L?wom
XA T HE (2L
AALFE P AT
11, 260, 000 M JEAT IR
AL R5. 2. 28
TEH 8 & ER=g il e g 10, 500, 000
@%§§§§;%m~»ﬁyf%ﬁ - I T3 ﬁﬁ%iﬁg 9, 200, 000
RAFEMEER  HBSS = ST 8, 800, 000
TR %:ﬁ;%%ﬁé — 8, 400, 000 |
WE—T 7 /7 FrhE T 8, 200, 000 e
AL FE: FL A AL THW FeR
9, 050, 000 M JEATHIRR | BREEREN A E AT 8, 900, 000
- AFL R5. 3. 31




XA
tﬂ_l\_l‘ll

THAETH6H BUT A4 FE % 4 A AFLITHIE HAz:
EI I T * ES 4 ¥ % R AN S
& AT 55 1 (7] 55 2 [A] %5 3 [A]
TEH 9 & HAEM S s 5, 700, 000
Sl ikl BEAUNEEEL g |TOELER R 4,350, 000
RAEERN RS 2T 5, 050, 000
B —Fn PR 4, 300, 000
WE—7 7/ ERIEE ST 4, 000, 000 BTE
AALFE HelgATiRS BT HH FEIR
4, 460, 000 M JBATHIRR | BAEEREN G ZET 4, 650, 000
B AL R5. 3. 31
TE®E 10 = D~ # 6, 180, 500
Pk T3 AR AT 6, 200, 000
KW M = T 6, 500, 000
AALTE Ll i B
6, 054, 750 JEAT IR
B AE AL R4. 12. 23
TEE 11 = Y~ 4 1, 650, 000 e
Q%§§*$%ﬁyf%%%ﬂ§@ - wﬁﬁgﬁ o 1, 805, 500
FABK LHEFEShMR R A 1,670, 000
KA LM B 2T 2, 100, 000
NI 354 iy
1, 725, 500 [ JEATHIER
A AL R4. 12. 23
TEH 12 & HAEW S SE 15, 000, 000
%igigmvyﬁw”ﬁyf%ﬁ - P T3 ﬁ@%%?g 14, 500, 000
RACEREM S = 26T 11, 800, 000
M Fn TEma 10, 900, 000 e
WE—7 7 7 #rl e 30T 12, 000, 000
AL LR A A% A T 11, 425, 000
11, 100, 000 M JEATHARR | SRREEEN R e T 12, 560, 000
A AFL R5. 3. 31




